SOLUTIONS

» Solutions exercice n°1

1. §=]-00;2] 2
3. S=]-5: +o 4,
g A .4
5 S= ]—oo, g[ 6.
7. S=]-00; +0o| 8.
9. §$=]8; +o9|
» Solutions exercice n°2
Seule la derniére ligne du tableau est donnée.
1)
T -0 :Ii |l +0a
[z —4)jz-13) + |l| - |I| +
2)
T -0 -2 _l 4 oo
3
[1=-2r|[x +2) - |'| + |I| A
3)
. 2
x - -5 1] = +00
Gx(3r - 2)jx + §) - |‘| |I| - |.|
4)
T —na —I:i :Ii +0a
2 [ + |.| - |I|
5)
T =00 =1 1 I +00
(1 =2*)(w =) |‘| - |r| + |,|
6)
I - D0 -2 3 + 00
a4 = :
e - 1]
2+
7)
I - X =1 2 + 00
- 1]
8)
r|-n = i 2
3
- 0 & 0 -

S =]-4; +oo]
=] 4]
S =[%; +oof
5 =[%; +oo



» Solutions exercice n°3

1. S=]-0c0;0]U[1; +oo[

3. S=]-4;4]

5. S=]-4;3

7. §=[-1;0]U]}; +oo

9. S$=]-1;1[U[3; +e9
11. § =]-00; -1]U]1; +oo|
13. §=]-o00; -2[U[-F; +oq

15. S =]-00; =1[U[0; 1]

10.

12

14.

16.

§=]-00;-3[U]1; 3]
§=]-2;1]

5= -g[u]f o
S =]-00;-3[U] ;4]

s=]4s0ultd



